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%HUGDVDUNDQ�KDVLO�SHQHOLWLDQ�LQL��GDSDW�GLVLPSXONDQ�EDKZD�

�� .HMDGLDQ�HOHSKDQWLDVLV SDGD�NHORPSRN�UHVSRQGHQ�SHQGHULWD�

HOHSKDQWLDVLV \DQJ�EHUMXPODK����RUDQJ�WHUGLUL�GDUL���������

RUDQJ SHQJHWDKXDQ� EDLN�� �� ��������� RUDQJ� SHQJHWDKXDQ�

FXNXS�� GDQ� ��� ��������� RUDQJ� SHQJHWDKXDQ� NXUDQJ�

PHQJHQDL� HOHSKDQWLDVLV�� .HORPSRN� \DQJ� WLGDN� PHQJDODPL�

HOHSKDQWLDVLV \DQJ� EHUMXPODK� ��� RUDQJ� WHUGLUL� GDUL� ��

��������RUDQJ�SHQJHWDKXDQ�EDLN�PHQJHQDL�HOHSKDQWLDVLV����

�������� RUDQJ� SHQJHWDKXDQ� FXNXS�� GDQ� �� �������� RUDQJ�

SHQJHWDKXDQ� NXUDQJ�PHQJHQDL� HOHSKDQWLDVLV GL� 3XVNHVPDV�

:DWXEDLQJ��6LNND��1XVD�7HQJJDUD�7LPXU�

�� .HMDGLDQ�HOHSKDQWLDVLV SDGD�NHORPSRN�UHVSRQGHQ�SHQGHULWD�

HOHSKDQWLDVLV \DQJ� EHUMXPODK� ��� RUDQJ� WHUGLUL� GDUL� ��

��������� RUDQJ VLNDS� SHQFHJDKDQ� EDLN�� � ��������� RUDQJ�

VLNDS� SHQFHJDKDQ FXNXS�� GDQ� � ������� RUDQJ� VLNDS�
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SHQFHJDKDQ NXUDQJ� PHQJHQDL� HOHSKDQWLDVLV�� .HORPSRN�

\DQJ� WLGDN� PHQJDODPL� HOHSKDQWLDVLV \DQJ� EHUMXPODK� ���

RUDQJ�WHUGLUL�GDUL�� ��������RUDQJ�VLNDS SHQFHJDKDQ�EDLN���

������RUDQJ� VLNDS�SHQFHJDKDQ FXNXS��GDQ�� �������RUDQJ�

VLNDS� SHQFHJDKDQ NXUDQJ� WHUKDGDS� HOHSKDQWLDVLV GL�

3XVNHVPDV�:DWXEDLQJ��6LNND��1XVD�7HQJJDUD�7LPXU�

�� .HMDGLDQ�HOHSKDQWLDVLV SDGD�NHORPSRN�UHVSRQGHQ�SHQGHULWD�

HOHSKDQWLDVLV \DQJ�EHUMXPODK����RUDQJ�WHUGLUL�GDUL����������

RUDQJ�NHELDVDDQ�SHQFHJDKDQ�EDLN����������RUDQJ�NHELDVDDQ�

SHQFHJDKDQ� FXNXS�� GDQ� �� ������ RUDQJ� NHELDVDDQ�
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�������� RUDQJ� NHELDVDDQ� SHQFHJDKDQ� NXUDQJ� WHUKDGDS�

HOHSKDQWLDVLV GL� 3XVNHVPDV� :DWXEDLQJ�� 6LNND�� 1XVD�

7HQJJDUD�7LPXU�

�� .HMDGLDQ�HOHSKDQWLDVLV SDGD�NHORPSRN�UHVSRQGHQ�SHQGHULWD�

HOHSKDQWLDVLV� \DQJ� EHUMXPODK� ��� RUDQJ�� GLGDSDWNDQ� ���

������� RUDQJ� PHPLOLNL� OLQJNXQJDQ� SHQFHJDKDQ� \DQJ�
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NXUDQJ�GDQ� UHVSRQGHQ�\DQJ� WLGDN�PHQJDODPL� HOHSKDQWLDVLV

\DQJ�PHPLOLNL� MXPODK� ��� RUDQJ� WHUGDSDW� ��� ������ RUDQJ�

PHPLOLNL� OLQJNXQJDQ� SHQFHJDKDQ� NXUDQJ� WHUKDGDS�

HOHSKDQWLDVLV GL� 3XVNHVPDV� :DWXEDLQJ�� 6LNND�� 1XVD�

7HQJJDUD�7LPXU�

�� .HMDGLDQ�HOHSKDQWLDVLV SDGD�NHORPSRN�UHVSRQGHQ�SHQGHULWD�

HOHSKDQWLDVLV \DQJ� EHUMXPODK� ��� RUDQJ� WHUGLUL� GDUL� ��

��������� RUDQJ� GDSDW� PHQJDNVHV� NH� VDUDQD� SHOD\DQDQ�

NHVHKDWDQ��GDQ������������RUDQJ�WLGDN�GDSDW�PHQJDNVHV�NH�

VDUDQD� SHOD\DQDQ� NHVHKDWDQ�� .HORPSRN� UHVSRQGHQ� \DQJ�

WLGDN� PHQJDODPL HOHSKDQWLDVLV WHUGDSDW� ��� RUDQJ� \DQJ�

WHUGLUL� GDUL� ��� �������� RUDQJ� \DQJ� GDSDW� PHQJDNVHV� NH�

VDUDQD�SHOD\DQDQ�NHVHKDWDQ�GDQ�����������RUDQJ�\DQJ�WLGDN�

GDSDW� PHQJDNVHV� NH� VDUDQD� SHOD\DQDQ� NHVHKDWDQ� GL�

3XVNHVPDV�:DWXEDLQJ��6LNND��1XVD�7HQJJDUD�7LPXU�

�� 3HQJHWDKXDQ� EHUKXEXQJDQ� GHQJDQ� NHMDGLDQ� HOHSKDQWLDVLV��

VHGDQJNDQ� VLNDS� SHQFHJDKDQ�� NHELDVDDQ� SHQFHJDKDQ�� GDQ�

DNVHV� NH� VDUDQ� SHOD\DQDQ� NHVHKDWDQ� WLGDN� EHUKXEXQJDQ�

GHQJDQ� NHMDGLDQ� HOHSKDQWLDVLV GL� 3XVNHVPDV� :DWXEDLQJ��

6LNND��1XVD�7HQJJDUD��7LPXU�
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%HUGDVDUNDQ� KDVLO� SHQHOLWLDQ�� PDND� SHQXOLV� LQJLQ� PHPEHUL� VDUDQ�

VHEDJDL�EHULNXW�

�� %DJL�PDV\DUDNDW�GL�.DEXSDWHQ�6LNND�NKXVXVQ\D�GL�ZLOD\DK�

3XVNHVPDV� .DEXSDWHQ� 6LNND�� DJDU� PHQLQJNDWNDQ�

SHQJHWDKXDQ� NKXVXVQ\D� WHQWDQJ� SHQJHUWLDQ� SHQ\HEDE�

HOHSKDQWLDVLV�� GDQ� FDUD� SHQFHJDKDQQ\D�� VHSHUWL� PHPEDFD�

EXNX�EXNX� NHVHKDWDQ�� PHQJLNXWL� SHQ\XOXKDQ�SHQ\XOXKDQ�

GDQ�ODLQ�ODLQ�

�� %DJL� WHQDJD� NHVHKDWDQ� DJDU� GDSDW� PHPEHULNDQ� VRVLDOLVDVL�

OHELK�PHQJHQDL�SHQFHJDKDQ�HOHSKDQWLDVLV�

�� %DJL�SHQHOLWL�VHODQMXWQ\D��ZLOD\DK�SHQHOLWLDQ�GDSDW�GLSHUOXDV�

DJDU�PHQGDSDWNDQ�KDVLO�SHQHOLWLDQ�\DQJ�OHELK�VLJQLILNDQ��
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